f1 = 2526 + 242627 + T3T7 + ToTg + ToTy + T + T1X6T7 + T1T4T5 + T123T6 +
T1T2X7

fo =145+ 2527 + 2427 + 40576 + T3T5T7 + T2X7 + ToT5 + T273 + X176 +
T1T5%6 + T124T7 + T1T3T4 + T1T225

f3 = 1+ 2527 + T4 + 2476 + T376 + T3TeT7 + T3T4T5 + T2X7 + T2T4T6 +
ToX3T7 + T1T6 + T1X4 + 12427 + T1T2

fa = 26+ 252627 + T3T6 + T3T4 + ToT7 + ToTeT7 + XXy T + T2T3%6 + T1T5 +
T1T4Te6

f5 = 1+ a7 + 2477 + T4x5 + T3T5T6 + T3T4T7 + T2Xe + ToT5T7 + 127 +
T1TeX7 + T1X5 + T123

fo = 16T r 2327 +T305+ 22+ 020506+ T2 Xa X7 +T1 +21 T X7 +T1 T4 +T 1 ToX3

fr = 2436 + T3 + T3TeT7 + T2 + o5 + To2x3T4 + Ty + T12T7 + T1T6 + D104 +
T1T3T5 + T1T2T6 + T12T2T3



